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QUESTION 1

You are running multiple policy modeling projects and are using the collaboration and inclusions functionality to ensure
consistent screen wording and reuse. You have a "corporate reference" project that contains some standard interview
screens used in all Policy Modeling projects for your company. 

Your company has had some policy changes and you are required to change the wording and layout on the common
screens for all Policy Modeling projects. The changes are required immediately. 

How can you achieve this using the minimum number of steps? 

A. Update the corporate reference project in Policy Modeling, then upload the new version to the Hub. Deploy the new
version of the corporate reference project and the changes will then be automatically propagated to all other Policy
Modeling projects. 

B. Update the corporate reference project and upload the new version to the Hub. Remove and then add the inclusions
for all of the other projects, because inclusions will not merge screens. 

C. Copy the screens from the Corporate project into all of the other Policy Modeling projects individually, and then click
the Add button on the Inclusions tab for each project. 

D. Update the corporate reference project and upload the new version to the Hub. Update all of the other projects
individually by clicking the Update button on the Inclusions tab. 

E. Update the corporate reference project and upload the new version to the Hub. Update all of the other projects
individually by clicking the Reset button on the Inclusions tab. 

Correct Answer: E 

 

QUESTION 2

The source material for your policy model says: 

To be eligible for the program, there must be at least one child in the family under 18 years of age. The payment amount
for the family is based on the total income of all family members. If a family member has multiple jobs, include income 

from all jobs. 

Which two steps should you perform? 

A. Create two entities: the family member, the family member\\'s job. 

B. Create an interred entity for "the job" to allow for family members with multiple jobs. 

C. Create three entities: the family member, the family member\\'s age, the family member\\'s job. 

D. Create three attributes (the first job, the second job, the third job) to allow for family members with multiple jobs. 

E. Create two entities: the family member, the family member\\'s age. 

F. Use an entity function to calculate a family member\\'s total income from all their jobs. 

Correct Answer: DE 
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QUESTION 3

You wrote this rule: 

How many attributes does it contain? 

A. Three 

B. Ten 

C. Two 

D. Six E. Seven 

F. Five 

G. Nine 

H. Eight 

I. Four 

Correct Answer: G 

Reference: https://www.oracle.com/technetwork/apps-tech/policy-
automation/learnmore/policymodelingbestpracticeguide-1371173.pdf 

 

QUESTION 4
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Identify four features that have been used to enhance this interview screen. 

A. Substitution 

B. Containers 

C. Configured styles 

D. HTML 

E. 

F. Image control 

G. CAPTCHA 

Correct Answer: ABCE 

 

QUESTION 5

A customer has requested an interview that will create an incident in Service Cloud along with a number of tasks (linked
to the incident). 

From a data mapping perspective at the entity level, how can this be achieved with the minimum number of steps? 

A. Do not map the global entity. Create entities for both the task and incident objects and map these to the
corresponding objects in Service Cloud. 

B. Create a relationship between Tasks and Incidents in Service Cloud, map the global entity to the Task object and
create a child entity for the Incident. 

C. Map the global entity to the Task object and create an entity for the Incident object. Map the child entity to the
Incident object in Service Cloud. 
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D. Map the global entity to the Incident object and create an entity for Task object. Map the child entity to the Task
object in Service Cloud. 

E. Map the global entity to both the Task and Incident objects, because primary objects can be mapped to directly. 

Correct Answer: C 

1Z0-345 VCE Dumps 1Z0-345 Exam Questions 1Z0-345 Braindumps

1Z0-345 VCE Dumps | 1Z0-345 Exam Questions | 1Z0-345 Braindumps                                5 / 6

https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html


https://www.pass4itsure.com/1z0-345.html
2022 Latest pass4itsure 1Z0-345 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.pass4itsure.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © pass4itsure, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

1Z0-345 VCE Dumps | 1Z0-345 Exam Questions | 1Z0-345 Braindumps                                6 / 6

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html
https://www.pass4itsure.com/1z0-345.html

